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Attempt All questions. A/l questions carry equai marks.
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1. (a)  Explain the points of distinction between management

accounting and cost accounting,

(b)  “Product design provides the greatest scope for cost

reduction.” . Discuss.
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Attempt the following :

()

{in)

{iii}

If margin of safety is T 3,60,000 (40% of sales)
and P/V ratio is 30% of AB Ltd., calculate

its
() Break-even sales; and
2) Amount of profit on sales of T 10,00,000.

If fixed costs arg“\3 4,000, variable costs
Rs. 32,000 aud bfeak-even point ¥ 20,000, find

out :

(Iy”~ Sales, and

(2} Net Profit.

The ratio of variable cost to sales is 70%.

The break-even point occurs at 60% of the
capacity sales. Find the capacity sales when fixed
costs are T 90,000, Also compute profit at 75%

of the capacity sales. 34349
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Or
(3reram)
Distinguish between standard costing and budgetary

control.

The following bu&get of Tecpro Ltd. has been prepared

for the‘year 2011-12 at 100% capacity :

(% of sales value)

Raw materials 40
‘D'irect wages | 25
Factory overheads (variable) 10
Factory overheads (fixed) 5

Administrative and selling and

distribution overheads (variable) 6
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Administrative and selling and distribution

ovérhgads {fixed) 12
Profit 2
Saies Value 100

After considering the quarterly performance, it is felt
that the. budgeted votume of sales would not be
achieved. But the compat;y expects to achieve 80% of
the budgeted sales((¢gdal to a sales value of Rs. 1.60

lakhs}).

You are required to present the original budget and
the revised budget based on 80% achievement of
capacity sales. showing the contribution and profit

{loss) for both levels. 5+10
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In a factory 100 workersl dre employed and standard
average wage rate\¢s" T S0 per hopr. Standard working
hours per weeK are 40 and the standard performance
is 10 units per hour. During a week, wages paid for
50 workers are at the rate of ¥ 50 per hour, 10 workers
a.t ¥ 70 per hour and 40 workers at ¥ 40 per hour.
Actual output was 380 units. The factéry did not work
for 5 hours due to breakdown of machinery.

Calculate labour variances.

PT.0.



(8 ) 1669

(#  From the following data. calculate fixed overhead

variances :
Hours, when working at normal capacity 2,000
Fixed overhead hourly rate T2
Hours allowed for actwal production 1,600
Actual details—Hours ' 1.550
—Overhead ¥ 3,750
H
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The standard labour employment and the actual labour engaged
in a week fora))bb are as under :

- Skilled Semi-skilled Unskilled

workers  workers workers
Standard no. of v»;orkers
in the gang 32 12 6
Actual no. of workers
employed 28 18 4
Standard wage rate per hour 3 2 1
Actual wage rate per hour 4 3 2
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During the 40 hours working week, the gang produced 1,300

standard labour hours of work. Calculate :

(a)

&

()

(d)

(e)

Labour Cost Variance;
Labour -Rate Variance;
Labour Efficiency Variance;
Labour Mix Variance;

Labour Yield Variance.
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XZED Limited sells s .products at ¥ 3 per unit. The
company uses a Fir§t-In First-Out actual costing system. A
new ﬁx.ed manu;cacturing overhead allocation rate is
computed each year by dividing the actual fixed
_manufacturing overhead cost by the actual production costs.
The following simplified data are related to its first two

years of operation :

Year 1 Year 11
Sales (units) 1,000 1,200

Production (units) ] 1,400 1,000

PT.O.
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Costs : 3 4
Variable manufacturing 700 500
Fixed manufacturing 70 700
Variable marketing and administration 1000 1,200
Fixed rﬁarketing and administration 400 400
Required :

(Y  Preparc income statements HWased on
{z)  absorption cogting and
()  variablexGosting for each vyear

(i}  Give reasons for the difference in the answer. 1043
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(q) What are the limitations of break-even analysis ?

{) There are two factories under the same management.

The management desires to merge these two plants. The

following particulars are available :

Factory 1
Capacity operation 160 per cent
Sales T 3060 lakhs
Variabie costs ; ¥ 220 lakhs
Fixed costs 40 lakhs

You are required to calculate :

Factory 1l
60 per cent
¥ 120 1akhs

T 90 lakhs

T 20 lakhs

0] What wouid be the capacity of the merged

plant to be operated for the purpose of

breaking even ?

(i  What would be the capacity of the merged plant

to eamn a profit of T 60 lakhs ?

(i)  What would be the profit on working at 80 per

cent of the merged capacity ?

5+10
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Indicate any five circumstances under which selling price
may be fixed at a price which is less than the variable

cost.

XP Ltd. is producing 60,000 units at 60 per cent of
potential capacity and selling these in domestic market

on a selling price of ¥ 14.30 per unit.

His cost of sales per unit is as follows :

Direct materials T 350
Direct wages T1.25
Factory overhead. ¥ 6.25 (50% fixed)
Sales overhead T 0.80 (25% variable)

During the coming year 2011-12, it intends to produce
the same number but estimates that his fixed cost would
go up by 10% while the rates of direct wages and direct
materials will increase by 8% and 6% respectively.

However, the selling price will not be changed.

) Prepare a Statement of Marginal Cost and Profit

- for the year 2011-12,
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Answer the following, explaining the relevant cost

and non-cost factors in the following independent

situations, assuming that existing domestic sales

will continue !

(5

(i)

(i)

The company obtains an export order for
a further 30% of the potential capacity at
a price of T @\per unit. Should this order

be acgépted ?

What will be your answer if export order
is at T 8.25 ﬁer unit (instead of ¥ 9 per
unit) for a further 30% of the potential

capacity ?

What will be your answer if instead of
export order, the offer is from a domestic
market for a bulk supply of 30,000 units
at ¥ 10 per unit ? 32

PT.O.
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Or

(3reram)

Allied Manufacturing Company gives you the following

information ;

Product A Product B

'

Rs. Rs.
Fixed overhead ¥ 10.000 p.a.
Direct materials per unit 2 3
Direct labour per unit 10 15
Variable overhead (100% of direg:t_ labour)
Selling price per unit 60 100

You are required to present a statement showing the marginal

cost of each product and recommend which of the following
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(a} :

Briefly describe any five objectives of budgetary

“control.

What are the different metheds of measurement of

divisional performancgy?

PSL Co. Lfd)produces a variety of products each
having a number of component parts. It is producing
product Z which takes 5 hours to produce on machine
A23. Z has a selling price .of T 100 and a varial?ie cost
of Z 60 per unit. Component part XT could be made
on the same machine A23 in two hours at a variable
cost of ¥ 10 per unit. The supplier’s price of the

component is T 24 per unit.
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sales mixes should be adopted :
(@) 900 units of A and 600 units of B;
(5 1,.800 units of A only:
(cy 1,200 unit.s of B only,

(@) 1.200 units of A and 400 units of B, 15
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Advise whether the company should make or buy
component part XT from the market under both the

situations :

0] when machine A23 is working at full capacity;

_and
(i) when machine A23 has idle capacity.

Give reasons. 4+447
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Explain the concept of responsibility accounting. What are the

prerequisites of responsibility accounting ? Also explain the

various "cost centres in this regard.
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